SUMMATIVE ASSESSMENT -1 (2011)

Hapfora wer—I 470042
SCIENCE / fasm
Class — IX / shaIT— IX
Time allowed: 3 hours Maximum Marks: 90
fFeiRa w9 : 3 "ve HTH 3F : 90

General Instructions:

(i) The question paper comprises of two sections, A and B. You are to attempt both
the sections.

(i)  All questions are compulsory.

(iii)  There is no overall choice. However, internal choice has been provided in all the
five questions of five marks category. Only one option in such questions is to be
attempted.

(iv)  All questions of section A and all questions of section B are to be attempted
separately.

(v)  Questions 1to 3 in section A are one mark questions. These are to be answered in
one word or in one sentence.

(vi) Questions 4 to 7 in section A are two marks questions. These are to be answered
in about 30 words each.

(vii) Questions 8 to 19 in section A are three marks questions. These are to be
answered in about 50 words each.

(viii) Questions 20 to 24 in section A are five marks questions. These are to be
answered in about 70 words each.

(ix) Questions 25 to 42 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.

| ey
(i) 9 U U BT QT AT, 9FT 31 IR 91T § § 9iel 797 2| MU SF1 AR & Ul & Sk
fora £ |

(i)  =f g arfvart g

(i) U 99 R DS 999 UG el & W Ya—did Dl & g geai § Ao =g+ f&ar T
2| §7 Ul # 37T BHacd U W™l ad9 Bl Ik fodd & oy g9 Fahd & |

(iv)  Smg®T WFT o iR 9FT 9 & 9l el & Sk JIH—9dd foras 8 |
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Page 1 0f 17

https://www.evidyarthi.in/



(Vi) HTT 1 & U W1 4 | 7 & U TGl (bl & 8 | 7P SN oW THIT 30—30 Ieal # <1 & |

(vii) T 31 & U3 T 8 | 19 & U WIF—| 3Dl & B | I IR o THT 50—50 Iea] H <A
g |

(viii) 1T o1 & U AT 20 W 24 B YT UMA-UMT b B & | 9P SN AT 70 &I H S § |

(ix) 9N 9 & Ued AT 25 H 42 & U YANHG DI W ARRGT dgfddhedl Ie © | IAD
U U 3id BT & | Ry T IR R(avedl § A MBI SHad Toh G99 STYad [ddmed g1 2 |

Section A

In which one of the following pair of substances, diffusion is not likely to occur ?

(i) copper sulphate and water
(ii) copper and iron

(iif) smoke and air

el 3 et 7 § & far 7§ P %) Fere A 87

(i) I Hethe q1 5,

(i) IR T AR

(i) e ol =g

Name the forces (types of forces) when their resultant force acting on a body is not zero.
fohelt %] W A a1t S el (St % YhR) 1 AW fafae fen gt s 3= 1 f)

3.  Name the plastid which stores starch, oils and protein granules.

39 wifiee o1 9M fafed s wrE, da 991 9 S geref i g s 2

4. (a) Distinguish between homogeneous and heterogeneous mixture.
(b) Identify the heterogeneous mixture from the following :

Air, soda water, soap solution, brass.

Ty qe fasmit fagon § A fafew )| fF=fataa o @ fawmi fago = ge=m sifse .

I, |l 91, |EA 1 faeem, dida.

You buy a bag of sugar of weight W at a place on the equator. You take this to Antarctica.
Would its weight be the same there ? If not, would it increase or decrease ? Why ?

a9 fordt T W, S faged 99 R 8, Uk deft =i+ foae R W Tlied §1 o7 38 sfafim w o
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10.

SA § 1 R a8l R SHH R A & W ? Afg T @ 9 9 e A7 A 2 379 IR
FRO fafET |

Write two differences between plasma membrane and cell wall ?

wieH freeft SR enifvren fufa # &1 < st fafed |

Draw diagram of a neuron showing nucleus and cell body.

U (FRT RIfITERT) Rl Tt ST 7 T hrgeh A1 <RI S@iEq |
Give reasons :

(a) Salt and sugar when kept in different jars take the shape of the jars, yet they are

classified as solids.
(b) Solids have negligible compressibility yet sponge can be compressed.

() Gases exert pressure on the walls of the container.
hUT Sy -

(@)  TTHF T < 9 TeT-3Ter 9IR B W@ W € IR #1 € SR o ol €, qenfa o 3 o
ENETACTRINE S

(b) 28 H Tvg Hited gt g aenfu v Hiifed g )
() ¥ 9 o H @ St § SHent SlaRl W S§ e ¢ |

(@)  State the principle of the process of centrifugation.

(b)  List any three application of centrifugation.

(a)  3AUh=A ki Hiskan =1 fagr fafed |
(b)  3TUh=A o <hlg I STITAN fafed |

The driver of a train A travelling at a speed of 15 m/s applies brakes and retards the train
uniformly. The train stops in 5s. Another train B is travelling on the parallel track with a
speed of 10m/s. This driver also applies the brakes and the train retards uniformly. The train
B stops in 10s. Plot speed - time graph for both the trains on the same paper. Also calculate
the distance travelled by each train after the brakes were applied.

Rt 3T A 1 SRR 15m /s Tt =1l ¥ TIAHAM 37 1 Sich TR ThHTHH Higd T <dl § 3R ¢4 55 |
T S € | O 2 B IR e W 10 m/s T 91 | TTHH T 3HHT e o ek TRt 2

Page 3 of 17

https://www.evidyarthi.in/



11.

12.

13.

14.

15.

16.

! THOHH Hied ¥k 10 s H Uk AT &1 THh & Y53 W AL Al bt Tfd & =1el-THa T Wi |
Sk T W Y& o g1 el Tl g off ufiehfera shifsrg

When a force acts on an object, it accelerates ? What do you observe when two equal and

opposite forces act on an object ?

Tt oI T ST 2 T oA § Al SHH oR0T Scoel Bl § | Wel Tehdt S W Sl WHE el foredid et
T € A1 ST o e e €2

Give three points of differences between mass and weight.

IR 9 gFHE | i1 3 fafgu |

Explain why a horse continuously apply a force in order to move a cart with a constant
velocity.

et SierTet =1 T 990 971 § 9o & fole =i sl o iaR el 1 o7 9Sdl § 2 SATeAT hifeiy |

(@) State Universal law of Gravitation.

(b)  If the moon attracts the earth, why does the earth not move towards the moon ?
(a) @I Tecershyol i faa fafaw
(b)  AfS == gt I SRTT AT T, A G TEAT i AR A HT 6T R 2

(@) List the constituting cells of xylem
(b) State two important functions of Xylem.

(a) STETH i GEEh hIfRIS hl Gl SET

(b) g & < H& wE fafEy

Give one reason for the following statements :

(@)  The blood is called connective tissue.
(b) Muscles are able to contract and relax to bring about movements.

(c)  Muscles of heart are called involuntary muscles.
o feu 7T Al o fAT Te-TE ROl iRt |

(@) T I TSI sk el ST ¢ |

(b) T % fere UfemT fage qem = R et & |

(c) %A Ui stifes Uferat seamd €
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17.  What happens to the dry raisins, when we put them in plain water for some time ? What
would happen if soaked raisins are placed in concentrated salt solution ? State the reason for

whatever is observed.

1 21 € 99 6 gEt fRuifai b o g9 % fou a) wia | W S ¥ 2 o1 afg g o g8

fonerfaretl =1 79 & Hig faora o @ < 1 1 8 2 379 71 Y&70T hid § SHeh] SRl fafEm |

18. List four desirable characters of bee varieties suitable for honey production. State two factors

on which quality of honey depends.

Y UG o foTT, SueR AYFeRE & e § B el =R Ufesen O ot T ST | 3 ST RNGhI
Ieord FHITTY 7 T 7Y Y T[orE FR B

19. List the biotic and abiotic factors which cause storage losses of food grains. How do they affect
the stored food grains ? How these factors can be controlled ?

SI9 AT TS R Silfch TS o HESRUT & TITA1 h HRUN 8, &l Yioag el 3 fHg yor 4
e 2T Bl F9IfId hid & 7 3 hiehi oh! o JohR 9 T forar s gshan €2

20. (a) Write any three differences between a physical change and a chemical change.

(b) When is a solution said to be saturated ? How can you change a saturated

solution to unsaturated without adding any more solvent to it ? Explain in brief.

()  oifqew aRada qen TamfTs afadd § w5 3F o= fafeT)

(b)  forelt fac=m &1 Ggu w9 &l ST g7 et dgn faaem &1 faeme fiem famr am %8

ST ST Fehd B 2
OR
(@) Compare true solution, suspension and colloids in terms of :
(i) filterability  (ii) stability
(b) List two factors which bring about a change in the state of matter say, gas to liquid.

@ () frersTa, (i) Tfa & udl H adfas faeaq, femsd 9o wege § faves
SHifSIT |

(b) o= Y sterEen H uRgdd, S e 9 59, M 9l & wRehi shi g IR

21.  Whatis evaporation ? In the following examples state which factor is responsible
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for the change in rate of evaporation and how ?
(i) Clothes dry faster on a windy day.
(if) Wet clothes dry faster on spreading them.
(iif) Clothes dry faster in sun than in shade.

(iv) Clothes take longer time to dry on a rainy day.

TS T 8?7 A fEU T SeRTel § SH e i Seoii SIS ST o it o J afiedd & fau
ITEET § SR FHH?

() Ta At feT HUS Sew @ W © |

(i) ISl F M WY Teal @ W © |
(ili) BIF AT STY&T U H HIS ool Y@ ¢ |
(iv) a9 & feii & o gor o 1w gm o 2

OR
Distinguish, in tabular form, between solids, liquids and gases under the following

characteristics :
(i) Intermolecular attraction
(if) density
(iii) fluidity
(iv) Diffusion
(v)  Kinetic energy of particles at a given temperature

frefafaa sifueaol (faRmarstl) o STER W 2], g& 991 197 § SIq IRofl og FifT
() AT SR
(ii) =T
(iii) XA
(iv) foremo
(v) el fou T qra wx skoni =kt wIfst s

22. (@) Define momentum. On what factors does momentum of an object depend ?
(b) State S.I. unit of momentum.
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(c) A motor car is moving with a velocity of 108 km/h and it takes 4 s to stop after the brakes
are applied. Calculate the force exerted by the brakes on the motor car if its mass along
with passengers is 1000 kg.

() I  ulvm fafew | Rt a%q 1 Hort for wRen W R Far 272
(b) EAT HIS.I A T |

() TH AIX FR108 km h ~1 I 71 ¥ =1 W © 3R 3/ M 6 915 98 Fehl H 4 s I THF Il
Tl SR W I T 9H F oG O 9] sl hl IRber HIT | HR HT AR gied ot
ZHH 1000 kg T

OR
(@) State the law of conservation of momentum.
(b) Explain why is it difficult for a fireman to hold a hose, which ejects large amounts of

water at high velocity.
(c) A boy of mass 60 kg running at 3 m/s jumps on to a trolley of mass 140 kg moving with a

velocity of 1.5 m/s in the same direction. What is their common velocity ?

(a)  Gor HL&T s frem fafew |

(b) T SARMA FHAR 1 q9 A 9 FIgarEd A0 § 9t Hehd aTell e Fi Aat Fhl Thed |
T i Bl §? T HIfSQ )

(€) 60 kg AN ST Toh ASHI 3 ms 1 h o § 140 kg FATH AT TIGHM Sreft foreent o 36t
e 1.5 ms 1%, W KSAM &1 3 1 1 AHfeeh o7 IRehfed HifaT |

90

80 1

70

v (m/s) 60
50 +

T 40+
30+ ;

20+ frmnnnne
10+ ] |

| 1 1 1 é

1 1 1 1 1 1

01 2 3 4 5 &6
T (s)

g+

00 e e
e}

\O L

The v-T graph of cars A and B which start from the same place and move along a straight road
in the same direction, is shown. Calculate (i) the acceleration of car A between 0 and 8s. (ii) the
acceleration of car B between 2s and 4s. (iii) the points of time at which both the cars have the

same velocity (iv) which of the two cars is ahead after 8 sec. and by how much ?
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m....

80T H
v(m/s) 607 7
501 :
Ve 0
30T
U 72 T

[ S SEPE S |

0€1 2 3 4 5 6 7 859

—=T(s)

AT T FTgd 1 I A 991 B T & TIH H 3RY Tk U Weft g W T & foon & =t &
<, <9I T ¥ 1 uieRfora sifeg

(i) 078 = H HR A I R
(i) 2sTAT4 sk oA | HR B h1 @O
(i) 99 % a1 foig el W Sl R oA o FHE T

(iv) 85 9IS i Hl HR AW & T fora ?

OR
The following table gives the data about motion of a car.

Time (h) 11.00 11.530 12.00 12,30 1.00
Distance (km) 0 30 30 &5 100
Plot the graph

(i) Find the speed of the car between 12.00 hours and 12.30 hours.
(if) What is the average speed of the car ?

(iii)  Is the car’s motion an example of uniform motion ? Justify.

=1 difetem §, wer R skt Tifa o1 Taero, fean mn §)

UG (h) 11.00 | 11.30 | 1200 | 1230 | 1.00
< (km) 0 30 30 65 100
G FAIRT q91 399
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24.

25.

26.

(i) R A=A 12.00 T 12.30 h HEA 1 RIS |
(i) R I d oA I RIS

(i) T SR T 7T HT ST Th THME T F1 S 7 9 HAT I T HRTC

How are cultivation practices and crop yield related to each other? Describe any three factors
for which variety improvement is done.

FY JUNfer=ri qem wod ScieA HEY ¥ fFg yer gafua €2 8 fRdl 39 wRenl 1 9oia ey
5 o foredi & gem foman < €1

OR
(a) Mention the two ways of obtaining fish.
(b) Explain composite fish culture system with the help of an example.
() Mention the major problem in fish farming. How can this problem be

overcome ?

(a) TS 9T H w HIE < fafeEr fafed
(b)y  fafya Aol Haua T A1 T I T THEARS |

(c) Al HaEd ® UG HAET & IP@ HIGC|  3H G w1 GHEE fRT TER TR S0
bl & ?

Section B

A solution when kept for some time formed two layers. The solution cannot pass through the
filter paper. Itisan:

(@) Saturated True solution (b) Suspension
(c) Colloid (d) Unsaturated true solution

Teh foer™q ol 989 T W W 399 3 998 91 T3 | 9% faered fihee o9 # 9 &1 et Topan | I8
TS :

(a) EIW (True) foerad (b) e

(0 RS (d) STEJ (true) faerad

Which of the following will not leave a residue on filter paper ?
(@) Sulphur powder mixed in water.

(b) Starch mixed in cold water.
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27.

28.

(c) Copper sulphate mixed in water.

(d) Sand mixed in water

=1 & @ =1 fheek v W Fs off 99 78 S ?
(a) I H THAET T aRE

(b) << UHl ¥ foemn wH |

(c) uHl ¥ e s gethe |

(d) I H THeE W

Ferous sulphide is formed :

(@) by heating iron filings with sulphuric acid

(b) by heating iron filings with sulphur

(c) by the reaction of mixture of iron filings and sulphur with dilute hydrochloric acid

(d) by the reaction of iron with hydrogen sulphide gas

T GowEge -1 Sl €

(a) I8 U1 T TR 3TFA hl TH hid T
(b) 8 01 TLT TR IS I TH L T |

() g ol qen Tt & fago =t s o7 o sAfufshar grI|

(d) T IR TEESH ToHERS 9 Hi Ufshal §N |

When we mix barium chloride solution with sodium sulphate solution in a test tube we observe

that immediately :

(@) a white precipitate is formed
(b) a yellow precipitate is formed
() the reaction mixture turns blue
(d) the solution turns red

o gH fordt waelt o gifean gothe faoa § afem senEe faoaq faam € 9 98 Jarr wd § T
T &
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29.

30.

() T GG STAEY S 7 | (b) Tk Hiel AT S |

()  erfafsran fasgor e & s & ) o o & S

In the determination of melting point of ice, a student observed with the help of Thermometer,

that :

(A)  whole of ice melts and temperature starts decreasing.
(B) Ice starts melting and temperature becomes constant
(C)  ice starts melting and temperature starts rising.

(D)  temperature starts rising but ice does not melt.

% hT TR 1A i o YA | foenelt omiHiex grr 9 9e1or ol ® fof TToish o M 21 § < -

(A) IR &% A ST S, T A9 HH B I S |

(B) o YOI STR¥Y LT § A1 g e 21 S 2

(C) o T TR AT & AT A9 off T TR 2 Sl & |

(D) M9 SET AR AT & | T 9% 8l TTomd |

Melting point of a substance is that constant temperature at which :

(@) Melting of substance starts and it exists only in solid phase.

(b) Melting of substance starts and it exists only in liquid phase.

(c) Melting of substance completes and it exists only in liquid phase.

(d) Melting of substance begins and both its solid and liquid phase exists together.

ot ueed 1 oI T feer I § 59 W e

(a) T ToEreT ARE AT ©, SR % S ST | € Wl |
(b) Tef TErET URE AT ©, SR I8 59 Aae H WA g |
() v g8 TR | foue S € @R I had g9 T § g ¢ |

(d) Tt forerer T gRey Y €, iR I o1t S SR g9 i ST | Uk Wi Wl ¥
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31. When a mixture of common salt and ammonium chloride is heated, it is observed that :

(@) solid common salt gets deposited on the cooler parts of the funnel.
(b) the mixture turns into greenish crystals.
() ammonium chloride gets deposited on the cooler parts of the funnel and common salt

remains in the china dish.
(d) vapours of both common salt and ammonium chloride appear on the upper part of the

funnel.

STE HIYROT T TR ST FArEe % g o foran S €, T S s ©

(a) S 9, HIY F UL 9RT H S & = S

(b)  faew & % @i H a5a 5§

()  STHIMIH FANEES hiY % SUS 9FI H AT &1 ST §, qT FIERYT THeh AT fe91 § W&l 2|

(d) I HIYRT THE qAT STHIEH FARIGE i TS i o FI R H 96 S 7

2. What is the correct description of X, Y and Z in the following figure with the heating of

substance ?

gubstance =7 4

(@) X=Test tube, Y =Burner, Z =Test tube holder
(b) X=Test tube holder, Y =Burner Z =test tube

() X=Test tube holder, Y =test tube Z =Burner

(d) X=Test tube, Y =Test tube holder Z=Burner

= feu T foot # e verd o1 v foRen S W@ R, X, Y 91 Z 1 HEl 90 ©
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33.

34.

Z = JETct gleel

7= Tl
Z= 9
Z= 9

When dilute sulphuric acid is added to granulated zinc placed in a test tube, the
observation made is :

(@) the surface of the metal turns shining.

(b) the reaction mixture turns milky.

(c)  the odour of chlorine is observed.

(d) acolourless and odourless gas evolved with bubbles.

ST O IR T Uk Wee § fad T8 TReR S | een s €, 99 foRan T et 5
B © o

(a) T 1 Y53 THhICH &1 Sl & |
(b)  sffsman fagor giemn 1 S 2
(c) I T Tie ATt 2|

(d) JISIERS H WY T TIEH q@ TeEH 19 fHeperd T

Ramu was asked to separate a mixture of common salt and ammonium chloride. Sublimation

is used to separate ammonium chloride because :
(@) ammonium chloride sublimes

(b) ammonium chloride changes directly from solid to gaseous state on heating
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() mixture contain a sublimable volatile component and a non Sublimable impurity (salt)
(d) all the above

T 9§ e T SHIAE FAREe SR URY 79 %k fHF0 &1 gueh F < $Hh T FEAuad &
ITART e ST © iR

(@) ST FAREE Heufad & S ¢ |

(b) AT FRES T I W e T H ufafda @ s )
() oo # Seefufad 9 aren STouRiiel wesh qe SHeaufad 7 8H arlt RIf§ (79%) B

(d) ST g+t

35. A student soaked 10 g raisins in 75 mL of distilled water in two beakers A and B. He
maintained beaker A at 20°C and beaker B at 40°C. After an hour, the percentage of water
absorbed will be :

(@) Same in beaker A and B
(b) morein A thanin B
() moreinBthanin A

(d) twiceas muchinBasin A

w fomeff 7 10 g fFRfHeT 75 mL STgQ STt # a1 el A 3R B H Fi | st A &l S8 20°C &
T T W@ 3TN iRt B &l 40°C W @I 1 5 o IS AN STeT bl Ffawrd /1 el -

(@) A SR BH TH 99H (b) AHBY Atk
(0 BH AH Aft® (d) BH AYIRA

36. On observing onion peel slide under low power of compound microscope the set of structure
clearly seen is :

(@) cell wall, cell membrane, nucleus, cytoplasm
(b) nucleus, cell membrane, vacuole, chromosome
(c) cell wall, cell membrane, mitochondria, vacuole

(d) cell wall, nucleus, vacuole, chromosome

TS i I i TeIEe 1 GYe Yauaeit st e wifed W Yeior e W wn femn 3 areft gt
1 A T
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37.

38.

(a) ITrRI fafa, SR fe, S, RifTERE
(b)  hseh, hiferent foiell, T, o

(c) ifRrent T, shifvrent forell, wigerenii-gan, TemT
(d) IRt fafa, e, @, TogS

Filtrate of a food product is taken in four test tubes marked A, B, C and D. Few drops of the

following are added to the test tubes to test the presence of starch :
(i) Sulphuric acid to test tube A.

(if) Iodine solution to test tube B.

(iii)  Chlorine solution to test tube C.

(iv)  Sodium hydroxide to test tube D.

Blue black colour will appear in test tube :

@ A (b) B (c) C (d D
et T 3c1g W i< =R WEAfedi A, B, C AT D H foan man | = ot Sufeafd o1 9ieior i

% Toe 37 weAferi # i oy SIguR o 8 e =i
() TETEl A H GeRRE I

(i) W@l B H SAREEH faaad

(i) @l C # FANA faead

(iv) WRETel D H Hifedd sReiMEs

fohe Emelt # iet-shren T1 yehe B ?

@ A (b) B © C (d D

When a few drops of HCI are added to test the presence of metanil yellow, the colour

which indicates its presence is :
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39.

40.

(@) pink (b) yellow () orange (d) red
Hfa I ot Sufefa i1 Wiew w6 & faw @ HCL &t 359 9. fHard St €, 7@ gt
Sufeafa &1 SRTa e A 41 2 ¢ -
(@)  Ter (b) e (© "™ @M (@) @@
Which of the following are the identifying features of human cheek cells that you will find in a
slide given to you by your teacher.
(@) The large vacuole appears in each cell.
(b)  The cells are irregular, flat with cytoplasm.

(c)  The cells are large enough lying side by side with cell walls.

(d) The cells are irregular flat with central nucleus and cytoplasm.

TR AT - 3ATIeh! HUTel HIITRIST hi Teh WIS o €1 T HUld HILHT i TeaH &
foru fr=fafaa § 9 39 9 91 daor @ei ?

(a) W hif¥ren H o Rferent fow <t €1

(b) RiIfSreRTe Stfarfi, =raet qen wifrREe wfed €|

(c) hiferent ot oSt €, foRmmil W forq €, hif¥rent fafa safeera €1
(d) RifeTeRt SIFTATHG, =9 €, PR hreeh a1 HIfehEed SUREd © |

Which of the observations noted by Ayush about the sclerenchyma tissue is correct ?

(@) The cells are thin walled.
(b) The cells are thickened at the corners.
(c)  The cells have very little intercellular space.

(d) The cells have no intercellular space.

TRIHTEH Sdeh o ok H STRY % R form T i | Taror et § 7
(a) if¥reR fufa gaett T

(b)  RITSTRT foRTR | HIST &1 S B

(c) Hif¥rertsi % Her faa T =gd &u 7
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41.

42,

(d) FifereEed & T R o T 2

A student was asked to identify the process which occurs when the raisins are soaked in water.
He will identify :

(@) Osmosis (b) Plasmolysis
() Endocytosis (d) Diffusion
ue foreneff <1 feprfaell <t ot & fomme ST o € areft foha g 6 faT shet AT 9% e
(@)  TRER (b) SiageaH=
()  wemEmEefEE (d) fomor

A student recorded the mass of dry raisins as 10g and the mass of raisins after soaking in
water as 16g . While performing the above experiment. The percentage of water absorbed by

raisin is :
(@ 20% (b) 30% (c) 60% (d) 40%

w fermeft 3 e fo6 10g g@ frafiet w1 gomm firie & 9% 16g 3 ST €1 38 W& H frwfier
SRT ST T <kt FfaewTar @

@ 20% (b)  30% ©)  60% (d)  40%
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